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NEW
2018
Part 1
ECONOMICS
‘ PAPER—I
: (General)
Full Marks : 90
: Time : 3 Hours
T?te figures in the right-hand margin fndicate full marks.

.‘I Candidates are required to give their answers in their
‘ own words as far as practicable.

Nilustrate the answers wherever necessary.
FIRST HALF
Micro Economics
; (Marks : 45)
Group—A
5x2

1. Answer any five questions 5

(a) What do you mean by ‘interior good’?

{Turn Qver}



(b) What is the law of diminishing marginal utility ?

{c} Why do two indifference curves not intersect each
other ?

(d} What do you mean by ‘indifference map’?
(e) What do you mean by ‘normal profit’'?

fy What is ‘cross price elasticity of demand’ for a
p
product ?

{g) What is the difference between ‘risk’ and
‘uncertainty’?

(h) What do you mean by ‘quasi-rent’?

Group-B
Answer any three questions : 3x5
2. Discuss the properties of indifference curves. S

3. Explain the concepts of ‘returns to a factor’ and Teturns
to scale’. : : 5

4. State the law of demand. Discuss the exceptions to the
law of demand. 243

5. What is the Ricadian concept of Rent’? What are the -
different types of rent ? What do you mean by ‘economic
rent’? 2+1+2

6. What do you mean by monopolistic competition ? What
are the characteristics of a monopolistic market ? 2+3
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7. Eiplain the concept of bereak even point’ and ‘shut down

pc;int' of a perfectly competitive firm. 2+3
' Group-C
Answer any two questions : 2x10

8. Explain the concepts of fixed cost and veriable cost of
production with example. Discuss the shape of different
short run average cost curves. 4+6

:
9. What do you mean by price elasticity of demand ? What
are the determinants of elasticity of demand for a

product ? ; 4+6

10. What do you mean by price discrimination? Explain
different types of price discrimination. What are the
conditions for profitable price discrimination? 2+5+3

11. Explain the Tiquidity preference theory of interest’ of
'Keynes. What are its limitations? - 6+4

SECOND HALF

{Indian Economics-]}

[Marks : 45]
Group-A
1. Answer any five questions : 5%72

: (a) What is ‘dual economy’?
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(b} What is ‘poverty line’?

{c) What are ‘primary’ and ‘secondary’ sectors in Indian

Economy ?
(d} Write the full form of SGSY and IDBI.
(e} What do you mean by ‘social security’?

{f) Write two important objectives of Indian public
distribution system.

(g) Distinguish between small scale and cottage
" industries. '

(h) What do you mean by ‘sick industry’'?

Group-B
Answer any three'questions : ' 3x5

2. Explain briefly the main causes of poverty in India. 5

3. What are the causes of low agricultural productivity in
India ?

4. Discuss the problems associated with National Income
measurement in India. S
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5. Discuss briefly the methods to be implemented for the
solution of industrial disputes in India. 5

6. Discuss the effects of population growth on Indian

Ecionomy. ‘ 5
7. What are the main functions of NABARD ? 5
|
| Group-C
Answer any two questions : 2x10

8. Describe the main causes of unemployment in India.
. What measures have been taken to solve this problem ?
' 6+4

9. What do you mean by sectoral distribution of National
| Iri'rxcome? What are the significant changes in the trend
of sectoral distribution of National Income of india during
the planning period ? ' 4+6

10. What do you mean by New Agricultural Strategy ? Discuss
the achievements of the New Agricultural Strategy in

India. 2+8
i

11. What are the causes of ‘Industrial sickness’ in India?
What measures have been adopted by the Government of

India to remove such sickness? 6+4

C/18/B.A./Part-1/3T(N}/ECOG/1 Torn Over)



EiiCCI

A 2ATGE FeAIS ermia e
AT IUTTT [AreT O TGw (Feq AimiE

gew wiet
GiBre wLANE
(% : 8a)
fRetr—=
S QRIA A5l AR Sag we _ X

(<) ‘738 Ty IS A @RI
(¥) TP 21 Soraray fRafs e
(ﬁ)iﬁﬁmﬂwmmm@wm@m
(%) ‘Farers W’W@ @RI 2 |
(8) oI R IS AV @R
(5) (A 037 ‘sifEma st vy Rfvgelesr e
(2) IR ¢ ‘wlpsaer-«z Iy A3y 2
(&) “SIHI-ATEA" IS F (@R 2

C/18/B.A./Part-1/3T(N)/ECOG/1 {Continued)



frein—a

IR fow1F orag TEI WG ox¢
1 e @m kiRl st 3Tt ¢
o "&mﬁmaﬁmw‘mﬁﬁm’-mm‘niﬁ?w

TR ¢
81 WWWW|mmmﬁummn

‘ ; 3+9

e “urEwr wers Rrer eraft Fe Rfew g tramefe F e

‘GtafT Yo WS Qe D+

u| GFERT ARTIRE e F QR I afstferEe

FEay [EErefa t Fe 3+

1 gaib ofeferafienEe Pl F wm-“ﬂamﬁ R an

Gesiww A B RN TV I 3+0
ferst—at

(I 75 2rd Ted me 3x30

v Swizgere Bestra PR T @ SRRsatie Jra amen qfo it
%04l | RfSw Teeidin g T (AUE SIpS P FAT 8o

C/18/B.A./Part-1/3T(N)/ECOG/1 (Turn Over)



51 B we g e Ft QR I TR SIRWR

Fafegere fareaf & 87 8+
Y0 | Wi ~{AIRIT T I (@RI AN ALPRATIT LIRTSH WA
FLAT| ACTAE N AL e F e +¢+9
31 CRETHR ‘o o1 W o -1 SCema 303 | @3 Faraorafan $
Fe W+8
RSy weive
TEEW WA —s
(9= : 8¢)
fRem—s
S| AR Afo arey Teg wie exy
(F) ‘t@e Wm'ﬁ?‘
(/) wifdeg cxar e

(%) SIS WY ‘i ¢ ‘yhie’ cwaef § e
(9) SGSY &3 IDBI-GF @A @CA |
(8) e e wone QR

C/18/B.A./Part-1/3T{N)/ECOG/1 {Continued)



(sﬁ Wﬂﬂﬁﬂwﬁﬁ@w%m CETCA |
(®) T2 o 3o Fosm g =i

(@) ‘Y P e T @R

| fRemi—
mﬁ#m@mm ' ox¢
R étawmﬁm&mwwﬁwvmmmw: . ¢
ol SHTS FE T SeolFriTon Fatefr & $ie ¢

81 SIACST SIS S AR % T& FPOISRH ST FA |
' ¢

&1 P RO TR ST B 49 SRy o1 SR
FLAL ¢

o SRS WA oira wERYl fad 2SR WD FH ¢

Qi NABARD-4% a1 IRfiwe F e . ¢

C/18/B.A./Part-1/3T(N}/ECOG/1 (Turn Over)



10

fret—«
(T 577 aves T we ¢ IxXdo

¥l SIRCY (IIIICTH 24 IRIGHE SITAA ITAN % T ST
N IY 224 I WA ©+8

»| EISH S RIS I AT 9 @ ISP SRS
SIS WA CFGNT IBLR Mg i N eyl ifiady

‘AR 8+
so| ‘m?ﬁmmﬂM?wmqﬁmm
ST ST 1 | | {H

231 SRS B FHer-an Fwtef § Hr @ eviam wavt e
SRS I IYT P2 ety f e | w8

C/18/B.A./Part-I/3T(N)/ECOG/1 | TB—



